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PILOT TEST
PROJECT FOUR

Direction: Write the letter of the correct answer on the space provided before

each number.

1. When adding 56 and 22, what is the sum?

a. 78 b. 72 c.34 d. 80
2. Inthe number sentence 12 + 37 + 60 = 109. What is the sum?
a. 60 b. 109 87 d. 12
_ 3. lfyou add 292 and 16, what is the sum?
a. 44 b. 45 c. 54 d. 60
4 Add:210+22+19=_____
a. 251 b. 252 C. 621 d. 324
____ 5 Add: 102
+45
a. 147 b. 144 c. 135 d. 148
__ b.Ifyou subtract 26 in 36 what is the difference?
a. 10 b. 20 .12 d. 26
______7.When subtracting 175 to 70, What is the answer?
a. 100 b. 107 c. 105 d. 107
__ 8. Inthe number sentence 298 -122 = 178, what is the difference?
Q. 122 b. 298 c.0 d. 178
_ 9.Subtract: 671 -550=__
@, 211 k112 c. 121 d. 221
__10. Subtract: 297
- 53
a. 244 b. 255 C. 245 d. 254

11. When 10 x 10 =100. 100 is called?






12. If you multiply 12 by 13, what is the product?
a. 156 b. 165 c. 200 d. 120

13. Multiply: 100 x45=N What is N2

a. 4,000 b. 4,500 c. 5,000 d. 5,500
14, Find the product: ?8
Xx 8
a. 784 b.774 c. 794 d. 1004

15. In the equation 45 divided by 5is ¢, Number ¢ is called?

a. Sum b. product c. difference d. quotient

16. In the equation 1000 + 10 = 100, what is the dividend?
a. 1,000 b. 10 c. 100 d. 10,000
17.Divide: 74+2=N  What is the value of N2
a. 37 b. 32 c. 35 d. 39
18. Find the quotient: 81+9=__
a. 10 b9 c.8 d.7
19. In the equation 56 + 7 = 8, what is the divisor?

a. 56 b.7 c.? d.g

20. Bradley has 356 rubber bands. Andrew his cousin gave him 250 more.

How many rubbers s in total does he have?

a. 606 rubber bands c. 660 rubber bands
b. 706 rubber bands d. 607 rubber bands

21. In a math examination, 136 students take the test and 42 students failed.

Find how many students passed the examination
a. 91 b. 92 93 d. 94

22. Greg has 23 red marbles, 34 blue marbles and 40 yellow marbles. How
many marbles did he have in allg

a. 97 marbles c. 100 marbles
b. 98 marbles d. 99 marbles

23. When you are going to multiply mentally 62 by 11, how can you easily
find the producte

a. Add 6 and 2, then its sum will be written in between of the two digits.

b. Subtract 2 from 6, then its difference will be written in between of the
two digits.

c. Multiply 2 and 6, then its product will be written in between of the two
digits.

d. Divide é by 2, then its quotient will be written in between of the two
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24.1f 6 720 is divided by 1 000, what is the remainder?
a. 620 b. 720 c. 200 d. 100
For items 25-26, refer to the problem below.

Alden and Maine shared the amount of P 840 to buy a birthday gift for their
teacher. How much did each of them share?

25. What is asked in the problem?

amount shared by each pupil

amount the teacher wil receive

amount of the gift Alden and Maine gave
amount collected by two pupils

Q000

26. What is the answer to the problem?2
a. P2543 b. P 437 c.P 420 d. P 280
For items 27-29, refer to the problem below.

Lephyr receives Php55.00 every week for allowance. He puts Php7.00 of his
allowance into a piggy bank until his piggy bank has Php119.00. How many weeks
has he been saving part of his allowance?

27. What is asked in the problem?

a. The amount of savings Zephyr has.

b. The weekly allowance of Zephyr.

c. The number of weeks he has been saving part of his allowance.
d. The weekly savings of Zephyr.

28. What operation is needed to solve the problem?

a. Addition and Subtraction c. Subtraction
b. Division d. Multiplication

29. What is the answer to the problem?2
a. 7 b.12 ey d. 22

30. The 520 pupils and teachers of Vergonville Elementary School will go on
a field frip. Buses to be hired have 52 seats each. How many buses will
they hiree

a. 10 b. 11 c. 20 d. 22

GOOD LUCK!




